

Math 321

Q5

Home-work

- ① All assigned already (see syllabus)
- ② Hand in?

M	S	$M \rightarrow S$	$\neg M \vee S$	$(M \rightarrow S) \leftrightarrow (\neg M \vee S)$
T	T	T	T	T
T	F	F	F	T
F	T	T	T	T
F	F	T	T	T

Def:

two compound propositions, C and d , are logically equivalent if $C \leftrightarrow d$ is a tautology.

Notation:

$$C \equiv d \quad \text{or use } C \leftrightarrow d$$

above table shows $(p \rightarrow q) \equiv (\neg p \vee q)$

$$(D \rightarrow \Delta) \equiv (\neg D \vee \Delta)$$

ex) $(S \leftrightarrow r) \equiv (S \wedge r) \vee (\neg S \wedge \neg r)$

show $(S \leftrightarrow r) \leftrightarrow [(S \wedge r) \vee (\neg S \wedge \neg r)]$

is a tautology

S	r	$S \oplus r$	$S \wedge r$	$(\neg S \wedge r)$	$(S \wedge \neg r)$	$S \Leftrightarrow r$
T	T	F	T	F	F	T
T	F	T	F	T	F	F
F	T	T	F	F	T	F
F	F	F	T	F	F	T

$$(S \oplus r) \equiv [(S \wedge r) \vee (\neg S \wedge \neg r)]$$

allows us to show $\square = \Delta$ by

- ① Show \square, Δ are both true @ exact same time
- or
- ② Show \square, Δ are both false @ exact same time.

ex $(p \vee q) \equiv (q \vee p)$

<u>table</u>	p	q	$p \vee q$	$q \vee p$	$(p \vee q) \Leftrightarrow (q \vee p)$
	T	T	T	T	T
	T	F	T	T	T
	F	T	T	T	T
	F	F	F	F	T

argue

- a) when is $p \vee q$ false?
- b) when is $q \vee p$ false?

both are false,
both are false

Same conditions

so $(p \vee q) \equiv (q \vee p)$

useful logical equiv. (laws)

① $p \vee \neg p \equiv T$
 $p \wedge \neg p \equiv F$ negation laws

② Identity laws $p \wedge T \equiv p$
 $p \vee F \equiv p$

③ $p \vee T \equiv T$
 $p \wedge F \equiv F$ Dominance laws

④ Idempotent laws $p \vee p \equiv p$
 $p \wedge p \equiv p$

⑤ $\neg(\neg p) \equiv p$ double negation

⑥ $p \vee q \equiv q \vee p$
 $p \wedge q \equiv q \wedge p$ commutative laws

⑦ $(p \vee q) \vee r \equiv p \vee (q \vee r)$ assoc.

$(p \wedge q) \wedge r \equiv p \wedge (q \wedge r)$

⑧ $p \vee (q \wedge r) \equiv (p \vee q) \wedge (p \vee r)$

$p \wedge (q \vee r) \equiv (p \wedge q) \vee (p \wedge r)$

$p \rightarrow (q \wedge r) \equiv (p \rightarrow q) \wedge (p \rightarrow r)$

$p \rightarrow (q \vee r) \equiv (p \rightarrow q) \vee (p \rightarrow r)$

$$(p \wedge q) \rightarrow r \equiv (p \rightarrow r) \wedge (q \rightarrow r)$$

$$(p \vee q) \rightarrow r \equiv (p \rightarrow r) \wedge (q \rightarrow r)$$

$$(9) \quad (p \rightarrow r) \equiv \neg p \vee r$$

$$(10) \quad \neg(p \wedge q) \equiv \neg p \vee \neg q \quad \text{De Morgan's laws}$$
$$\neg(p \vee q) \equiv \neg p \wedge \neg q$$

other implication equiv

$$(p \rightarrow q) \equiv (\neg q \rightarrow \neg p)$$

Notes: $p \rightarrow q$

its converse is

its inverse is

its contrapositive is

$$\begin{array}{l} q \rightarrow p \\ \neg p \rightarrow \neg q \\ \neg q \rightarrow \neg p \end{array}$$

to do?

(1) Show

(2) use